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Part I Listening Comprehension (20 minutes)
Section A

Directions: In this section, you will hear 10 short conversations.
At the end of each conversation, a question will be asked about
what was said. Both the conversation and the question will be
spoken only once. After each question there will be a pause.
During the pause you must read the four suggested answers
marked A), B), C) and D) and decide which is the best answer.
Then mark the corresponding letter on the Answer Sheet with a

single line through the center.

1. A) The man will go home during the spring holiday.
B) The man will graduate before spring holiday.
C) The man will not graduate in May.
D) The man will not go home during the spring holiday.
2. A) A salesman. B) A student.
C) A tailor. D) A customer.
3. A) They can’t really afford to buy a new house.
B) They should buy a new house.
C) They should buy an old house.
D) They should cut down the other expenses.
4. A) He should call his secretary himsel{.
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B) He should ask Nick to phone his secretary.
C) He will not be able to find Nick before they leave.
D) His secretary will leave before they phone.
5. A) David makes two thousand dollars a month.
B) David makes four thousand dollars a year.
C) David makes four hundred dollars a month.
D) David makes eight thousand dollars a year.
6. A) John will not be able to sell his house.
B) John was joking.
C) John is probably serious with his decision.
D) He agrees with the woman.
7. A) Lend the man no money.
B) Go shopping with a friend.
C) Borrow some money from a friend to help the man.

D) Spend the weekend with the man.

8. A) A journalist. B) A math student.
C) An arithmetic teacher. D) An accountant,
9. A) 115 pounds. B) 145 pounds.
C) 110 pounds. D) 150 pounds.

10. A) She thinks the prices are reasonable.
B) She agrees that the prices are high.
C) She would like to have a trip to the moon.
D) She guesses the plane is flying into a reasonable high
altitude.

Section B
Directions: In this section, you will hear 3 short passages. At the
end of each passage, you will hear some questions. Both the

passage and the questions will be spoken only once. After you hear
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a question, you must choose the best answer from the four choices

marked A)s B), C) and D). Then mark the corresponding letter

on the Answer Sheet with a single line through the center.

Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A) The workers’. B) The bakers’.

C) The employers’. D) Both A) and C).

A) Employers worked less with their workers.

B) Employers did nhot work any longer.

C) Workers and employers worked side by side.

D) Workers and employers began fighting with each other.
A) Employers-only groups were formed.

B) The employers saw the need to help the workers.

C) The employers wanted to protect their own interests.
D) The employees saw the need to protect their own

interests.

Questions 14 to 16 are based on the passage you have just heard.

14.

15.

16.

A) They may enter any college in the United States.

B) They may study in the department of the federal
government.

C) They may continue their studies in the army college.

D) They may take courses of academic study through

correspondence.
A) Envious. B) Strongly opposed.
C) Dubious. D) Neutral.

A) Only young people can go to college.
B) The U.S. government provides many kinds of education

for its people.
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C) The employees hardly have any opportunity to study.
D) Only white-collar workers can pick up correspondence

courses.

Questions 17 to 20 are based on the passage you have just heard.
17. A) 600 w.p. m. B) 300 w.p. m.
C) About 245 w. p. m. D) About 1 000 w. p. m.
18. A) They need specialized knowledge.
B) They are more demanding than readings in textbooks.
C) They are topics of general interest.
D) They are less demanding than readings in newspapers.
19. A) They can triple a student’s reading speed.
B) They can double a student’s reading speed.
C) They can increase a student’s reading speed four times.
D) They can not increase a student’s reading speed.
20. A) It can double an untrained student’s reading speed.
B) It can triple an untrained student’s reading speed.
C) It can increase an untrained student’s reading speed four
times.
D) It can increase an untrained student’s reading speed five

times.

Part 11 Vocabulary and Structure (20 minutes)
Directions; There are 30 incomplete sentences in this part. For
each sentence there are four choices marked AY, B), C) and D).
Choose the ONE answer that best completes the sentence. Then
mark the corresponding letter on the Answer Sheet with a single

line through the centre.
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21.

22.

23.

24.

25.

26.

27.

As a woman, she was then among the few mothers
who sent their daughters to school and encouraged them to

take part in social activities.

A) sensitive B) sensible
C) sentimental D) senseless
It is not easy to learn English well, but if you , you

will succeed in the end.

.A) hang up B) hang about

C) hang on D) hang onto

After taking office, Chir?z?s Premier, Mr. Zhu Rongiji tried
his best to promote the new __ policies. '
A) economic B) economical

C) economist D) economics

According to Chinese traditions, unmarried girls are

to stay out at night.

A) prevented B) prohibited

C) objected D) forbidden

All particulars should be carefully checked. Nothing should
be i

A) taken into consideration

B) taken delight in

C) taken for granted

P> taken notice of

Charles looked very much when he was caught

cheating in the exam on the spot.

A) discouraged ‘B) embarrassed
C) disappointed D) frustrated
As a result of careless washing, the jacket to a

child’s size.
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28.

29.

30.

31.

32.

33.

34.

A) shrank B) compressed

C) contracted ' D) condensed

The sailor was cast ashore, deprived of the means of
existence. He had no one to help him. Only hope

him in all his miseries.

A) contained B) retained

C) entertained D) sustained

He is as __ as a donkey, doing everything in his own
way and refusing to listen to advice.

A) stubborn B) strict

C) particular D) objective

They feed the hungry and _ the homeless.

A) house B) shade

C) shield D) refuse

1 know you think I’m talking nonsense, Tom, but

you will realize I am right.

A) at one time B) in time

C) at times D) on time

The Board of Directors has _ a series of rules that
every member of the company must follow.

A) taken down B) put down

C) laid down D) let down

In the U. S. professors have many other duties besides
teaching, such as administrative or research work. ,
the time that a professor can spend with a student outside of
class is himited.

A) However B) Therefore

C) Furthermore D) Nevertheless

The bridge was named _ the hero who gave his life for
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35.

36.

37.

38.

39.

40.

4].

the cause of the people.

A) from B) with

C) by D) after

As everyone knows, agriculture is the foundation of national
economy. Therefore, it _ be emphasized too much.
A) shouldn't B) musin’t

C) won't D) can’t

He concluded his speech with a remark that failure

the mother of success.

A)is B) were

C) was D) must be

Such  the case, there were no grounds to justify your
complaints.

A) was B) were

C) being D) would be

with the developed areas, people’s living standard of

this province is not high at all.

A) Compare B) While comparing

C) When compared D) Comparing

I have given up trying to convince him; there is no point
with him.

A) by arguing B) with arguing

C) for arguing DY in_arguing

As a matter of fact, children with parents whose guidance is
firm, consistent and rational are inclined high level
of self-confidence.

A) possess B) to possess

C) to have possessed D) possessing

Doctor Godwin says that what forceful arguments
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42.

43.

against smoking there are, many people persist in smoking.

A) though B) however

C) no matter D) but

He is a selfless man, so under no circumstances
anything that will benefit himself and harm the interests of
others.

A) does he do B) did he do

C) he does do D) he does

is the richest man in this town?
A) Whom do you think B) Do you think who
C) Who do you think D) Who you think

& “Does anybody want an extra ticket to see the film?”

45.

46.

47.

48.

“Whom would you rather with you, George or me?”
A) to go B) going

C) have go D) went

The official couldn’t, however, guarantee _____all the
men’s demands.

A) meeting B) having met

C) to meet D) to have met

There _____ a series of traffic accidents at the crossing.
A) be B) are

C) has been D) have been

I move that he _ discharged for his serious mistake.
A) is to be B) be

C)is D) will be

these questions may sound academic, answers to
them could have profound economic and political
signilicance.

A) Since B) While
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C) Unless D) Lest
49. For some reason or 1 believe he’s going to take it.
A) other B) the other
C) others D) another
50. “Anne acts quite unfriendly. ”
“I think sheis  than unfriendly.”
A) shyer B) shy
C) more shy rather D) more shy
Part 111 Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is
followed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D). You
- should decide on the best choice and mark the corresponding letter

on the Answer Sheet with a single line through the center.

Questions 51 to 55 are based on the following passage:

In the U.S., 85% of the population over the age of 21
aﬂ)_l_'gl_e_g_f the ‘d;eaﬂg\ ,pge\nal\‘try,; In the many states which still have
the death penalty, some use the electric chair, which can take up
to 20 minutes to kill, while others use’gas or lethal (B énd)
injection.

The first of these was the case of Ruth Ellis who was
hanged for shooting her lover in what was generally regarded as
a crime of passion. The second was hanged for murders which, it
was later proved, had been committed by someone else.

The pro-hanging lobby (¥ & #% ] &9 i% 30 5E H1) uses four
main arguments to support its call for the reintroduction of

capital punishment. First there is the deterrence theory, which
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argues that potential murderers would think 1wice before
committing the act if they knew that they might die if they were
caught. The armed bank robber might, likewise, go back to
being unarmed.

The other two arguments are more suspect. (1) The idea of

retribution (#R}) demands that criminals should get what they

deserve: if a murderer intentionally set out to commit a crime,

he should accept the consequences. Retribution, which is just
another word for revenge, is supported by the religious doctrine
of an eye for an eye and a tooth for a tooth.

The arguments against the death penalty are largely
humanitarian ( A i £ X #)). But there are also statistical
reasons for opposing it: the deterrence figures do/n_gt_adgigp. In
Britain, 1903 was the record year for executions and yet in 1904
the number of murders actually rose. There was a similar
occurrence in 1946 and 1947. If the deterrence theory were
correct, the rate should have fallen.

The other reasons to oppose the death penalty are largely a
matter of individual conscience and belief. One is that murder is
murder and that the state has no more right to take a life than
the individual. The other is that Christianity advises

forgiveness, not revenge.

51. All of the following death penalty methods are mentioned in
the passage EXCEPT __ g .

A) the electric chair B) the lethal injection
C) the poisonous gas D) the shooting

52. According to the first four paragraphs, which of the
following statements is NOT TRUE? ©
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53.

54.

55.

A) The death penalty may help the potential murderers to
arouse moral awareness.

BY Ruth Ellis was shot by her lover, which was regarded as
a crime of passion.

C) The intentional murderer should eat his own bitter fruit.

D) According to the religious doctrine, punishment should
be as severe as the injury suffered.

In Paragraph 3, the word “deterrence” means

A) punishment B) protest
C) protection D) prevention

We can learn from the last two paragraphs that __h:ﬂ._

A) neither the state nor the individual has the right to take a
life

B) the state has the right to take a life but the individual
does not

C) -the death penalty has nothing to do with individual
conscience and belief

D) the deterrence figures have added up and the execution
rate has fallen

The passage is mainly about

A) the argument in favor of the death penalty

B) the argument against the death penalty

C) the argument about the reintroduction of the death
penalty

D) the argument about the abolition of the death penalty

Questions 56 to 60 are based on the following passage :

More surprising, perhaps, than the current difficulties of

traditional marriage is the fact that marriage itself is alive and



